Math Review – Test #1
Revised 11/16

1. Seller A and Buyer B have agreed to share all closing costs with A paying 60% and B paying 40%.  If the title insurance is $500, document preparation and recording fees are $225 and miscellaneous expenses are $248, how much more will A pay than B?

2. A buyer purchased two lots, each 75 feet by 125 feet for a total of $76,000.  What was the price per square foot?
3. Listing agent Bob is affiliated with Managing Broker Lisa and lists a property for $389,900 at a commission rate of 6%.  Selling agent Sally affiliated with Managing Broker Joe sells that property for $369,900.  Lisa’s firm pays a “co-op” fee of 50% of the gross fee to Joe’s firm.  Lisa and Bob are on a 60%/40% split with 60% going to Bob, and Joe and Sally are on a 70%/30% split with 70% going to Sally.  How much did Managing Broker Joe retain in the end?
4. A 3.5 acre parcel was purchased for $75,000.  What would a 25 foot by 75 foot strip sell for if sold at the same price per square foot?

5. A four acre rectangular parcel has 300’ of frontage, how deep it this parcel?

Answer Question #1:

$500

$973

$973

$583.80

$225

x.60

x  .40

-389.20
$248

$583.80
$389.20
$194.60 more

$973

Answer Question #2: 
(note: there are two lots, one of the wrong answers would be the result if calculating it with only one lot)
Step 1 : 75 x 125 = 9,375 square feet per lot       Step 2:  $76,000 ÷ 18,750 = $4.05 per square foot


                x     2      lots


           = 18,750 total square footage
Answer Question #3:

$369,900
X      .06   Commission rate

$22,194    Gross fee

X
     .50    Co-op split

$11,097    Co-of fee

X
     .30    % retained by Joe

$3,329.10  $ retained by Joe
Answer Question #4:

Step 1:  43,560                                              Step 2:  $75,000 ÷ 152,460 = .492 per sq ft.
       x    3.5
      152,460  total square feet                  Step 3: 25 x 75 = 1875 square feet

                                                                                           x .492

                                                                                           $922.50

Answer Question # 5:
  Step 1:   43,560


Step 2:    174,240 (area) ÷ 300(frontage) = 580.8 feet of depth


         X  4
              =174,240 sq.ft. 

